W79 =hILT—4 / Technical Datall
##4FThJLY / Recommended torque: 0.3N*m ~ 0.6N*m

#ERNZ / Components

7325

F view
FE / Product Number
axe | |-l -] R
Hti% Wik Dti& dJLE EXP/H)
H dimension W dimension D dimension Rubber feet Screw (P or H)

B fE A4L#k / Original trapezoidal head screw specification

® b 0

[P] 7SR / Phillips 73 A / Hexagon-socket

B

Color Type

No. %5 / Part name = / Pos #8 / Material & - REAIE / Color+Finish
| a—F—JAavy 4 TIVEH A Fv R+ ADC12 DIR—, Ty B (NERLE)
Corner block Diecast aluminium ADC12 Silver , Black*Painted (Unfinished inside)
2 Rt 4 TV A A6063S-T5 UILN—- B (NERELIR)
Frame Extruded aluminium A6063S-T5 Silver-Painted (Unfinished inside)
3 HN— ; 7 JLZ4R A1100P DILN—- R (RELBNE)
Top cover Aluminium A1100P Silver- Painted (Conductive inside)
. Thii— ; T ILEAR AT100P DILN—- R (RELBNE)
Bottom cover Aluminium A1100P Silver- Painted (Conductive inside)
5 JLRE 4 AT L I3y
Rubber feet Rubber Black
6 EMCY—ILRA R wb 8 HEMEAM (ULIAV-0) Ao TL—
EMC shielding gasket Conductive fiber UL94V-0 Metallic gray
; EUTE R (M3 x 8) 16 # ZuiTILAvE
Screw (Flat head M3 - 8) Steel Nickel plated
3 HAHE R (B#M3 x 5) 12 E5S ZYTILAVE
Screw (Trapezoid head M3 - 5) Steel Nickel plated

B4R / Color Type
i85 / Code | a—+—7J 0% / Corner block IR / Frame $H/8— / Top cover | TH/3— / Bottom cover
S'S 2 )LsN— / Silver < )LsN— / Silver < )LsN— / Silver 2 )L18— / Silver
S B 75v% / Black < )LsN— / Silver < JLiN— / Silver 2 )L18— / Silver

BREHINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

m/Title
EMCY—ILRRYHI R

o]

EMC SHIELDED ALUMINIUM CONTROL BOX

#/Approved 1%/ Checked B[/ Created #4% /Product number RE/Scale
iR ES e AUXE133-60-36R-C10 p—s 7w
1ERLH/Date 2022/12/15 176

AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




352

A-A(1:8)

110.5

B view

E view

360+ 0.5

A view

1325+ 05

55

125.5

C view F view
600+ 0.8
A —
t R h o) ] ou
I
i
| T
! B
1
} . ) Ke) | o,
A —
Cc-C(1:8)
o]
™
| =u
553
B-B(1:8)
4/ Title
TAKACHI| #ARALIATFEHIE EMCY— LR YR @ :I
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. EMC SHIELDED ALUMINIUM CONTROL BOX
#2/Approved #R[X|/Checked HX|/Created F& /Product number RFE/Scale
592 1:8
iR £ it AUXE133-60-36RO-0 g 7w
fERE/Date  2022/12/15 2/ 6

AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




A {84k / A Frame

550

1315

XM / Front side

B {8k / B Frame

& / Front side

125.2

- L==J
= 1|

M3
2-M3FH I}
2-M3 Countersunk

225 ¥ R*EHEH / Same on the other side.

]
I —

Z M / Back side

3.2

33

T
3.3

3.2

L==J
—_————————————————————————

]
I —

%M / Back side

a/Title

BREHINTEMTE Bl @]==

TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame

R /Scale

2 /Approved #&[X/Checked #[X]/Created F& /Product number
1:35

iR x B R=/Page
H133 - W600 fERE/Date  2023/01/05 3/°6

AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




C fAl#x / C Frame

<
- | ol
B ————————
5 2-M3EHIR 5
2-M3 Countersunk
310 225 ¥ RxELFEHk / Same on the other side.
N
™
=¥
@
™
0 o
— [T}
™ N
3
™
™
:l
N
™
XM / Front side %M / Back side
D {84k / D Frame
e—————————-]
L
""_r'__l
K / Front side 221 / Back side
m/Title
TAKACHI] #RXaitanFE@TE Bl @]==
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
2 /Approved #&[X/Checked #[X]/Created F& /Product number RIE/Scale
1:3
iR ES it R—T/Page
H133 - D360 {ERLH /Date 2023/01/05 4/ 6

AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




4-R14.7

349.4
330

M@ / Front side

589.4

570
6-4.5

REE— M

Surface protective film side

H#hti% / Max dim. 313+ 0.5

A% / Max dim. 553+ 0.8

2@ / Back side

s/ Title
TAKACHI| ¥X&suahFEHIE HI8— @ CI
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
7:R/Approved | 1&E/Checked B /Created | Z!#&/Product number RO Seae
1:5
iR ES it R—T/Page
W600 - D360 e B /Date  2022/11/16 5 /6

AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




4-R14.7

349.4
330

M@ / Front side

589.4

570
6-4.5

REE— M

Surface protective film side

H#hti% / Max dim. 313+ 0.5

A% / Max dim. 553+ 0.8

2@ / Back side

BREHINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

a/Title
THhi—

Bottom cover

o]

7 &8/ Approved %[/ Checked #[X/Created #4% /Product number RIE/Scale
1:5
PR x B ~R—/Page
W600 - D360 YER B /Date 2022/11/16 6 / 6

AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




